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HOME SCIENCE
PAPER - 11

Note : This paper contains fifty (50) objective type questions of two (2) marks each. All
questions are compulsory.

1.  Asper ICMR (2010) the RDA of Iron for a 16 year old girl is :
(1) 27 mg/day (2) 28 mg/day
(3) 32 mg/day (4) 26 mg/day

2.  Following is a method of cooking by dry heat :
(1) Steaming (2) Broiling
(3) Stewing (4) Blanching

3. A set menu in which a number of dishes are planned and food is offered at a set price is

called :
(I) A la carte menu (2) Occasional menu
(3) Single use menu (4) Table d’hote menu

4.  Which of the following is an Italian designer ?
(1) Giorgio Armani (2) Yves Saint Laurent
(3) Dior (4) Tommy I{_il{figer

5.  Give the full form of CSWRI :
(1) Central Sheep and Wool Research Institute
(2) Central Sheep and Worsted Research Institute
(3) Cotton Silk and Wool Research Institute
(4) Cotton Synthetic and Wool Research Institute

6.  Indicate which amon:g the following is an electronic gadget ?
(1) Water heater (2) Coffee maker
(3) Pressure cooker (4) Microwave oven

7. Vygotsky’s theor.y of Human Development is also called
(1)  Sociocultural theory (2) Psychosexual theory
(3) Psychosocial theory (4) Socioemotional theory

8. The National Adult Education Programme (NAEP) was launched to promote literary
among people in the age groups of :

(1) 25to 35 years (2) 35to 50 years
(3) 15to 35 years (4) 40 to 65 years
Paper-11 2 J-12-16
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(3) 15¥35°W (4) 40 ¥ 65 W
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9.  Marionettes are the following type of puppets :

(1) Shadow (2) Rod
(3) String 4) Glove
10. In normally distributed population Mean £ 2.58 S.D. will cover of population.
(1 99% (2) 98%
3) 95% 4) 90%

11. Zinc deficiency is manifested with following symptoms :

I.  Depressed Immunity II.  Vascular Complications
III.  Diarrhoea IV. Anaemia

V. Reproductive failure

Codes :

() LILII 2 LILIV

3) ILIV,V 4 LIOLV

12. Browning in cut fruits and vegetables can be prevented by :

I Immersing them in water II.  Increasing the pH

III. Blanching IV. Sprinkling sugar over the cut surface
Codes : o

() LIL I () ILILIV

3) LILIV @ LILIV

13.  Which of the following are types of buffet service ?

L Trayed II.  Plated
III. Finger IV. Fork
Codes :

(1) TandII (2) HandIV
(3) IIandIV (4) IIandIII

14. Rhythm is a design can be attained by

1. Gradation II.  Radiation

III. Contrast IV. Continuous line
Codes : )

(H) 1L II,1IV 2) NUOLI,I

3 LILIV 4 IV, ILI

15. High twist impafts following properties to yarns :

I Resistance to abrasion II.  Subdued lustre
III.  Soft texture IV. Bulkier
Codes :
(1) TandII (2) IIandIII
(3) HIandIV (4) TandIII
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9. URFMe I, Frefafad & @ 59 WehR T qqe e € 2
(1) =@ gged (2) B I
(3) =T g (4) =@ I
10. qE=a: fadia SEE qre + 2,58 A e SHEE & FEtdiEd 9 9 fhad wiaerd
e AT 2
(1) 99% (2)  98%
(3)  95% 4)  90%
11. 516 %t it & forepre o e oeqor onferer €
I I UiaRgeh &ar § . YFAEEEE S g
. SERar V. 3T
V.  SceT &ar foawe ger
T
(1) LILII 2) LILIV
3) ILIV,V 4) LIV
12. frAferaa aiiel @ e gU el o Wiestal bl 97 8 F S=ran ST Gehel €
I O H g . YU Sge
I s IV. g Fade W A GXeh B
[ TR
(1) LILII ) I 1L IV
(3) LIV 4) LILIV
13. frefafed § & g% Qa1 & UHR 6HiF @ § 2
I CHWE . i H A
0. et g V. FEH
T
(1) 13RI (2) 1LIRIV
(3) IIRIV (4) 1131
14. fesmem o o7 v fopan ST EhaT €
I T N ewe
M. HIE IV, Heg3Tq A
T
(1) I 10 IV () HLILIT
3) LILIV 4) IV, 1
15. T 57 9 | feferiae oo uem & ©
I T % fd aiareEt I 3o g 99%
I A T V. s o
T
(1) I3RII (2) MR
(3) UIIRIV (4) 13RI
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16. How will you achieve emphasis in interior arrangements ?

L Through repetition of objects 1L

III.  Use of contrasting colours Iv.
Codes :

(1) I, Il and III (2)
(3) L IIand IV 4)

17. Rights of research participants include :

L Informed consent IL.
III. Protection from harm Iv.
Codes :

(1) I, ITand I 2)
(3) II,IIand IV 4)

18. Non-formal education involves :

By grouping of objects

Use of plain background space

II, IIT and IV
I,IIand IV

Privacy

Remuneration

I, I and IV
[, IIl and IV

L. Flexibility of time tables II.  Rigidity of rules and regulations
III. Life-long learning IV. Life skill development
Codes : _
(1) I, IIand III (2) IL 1O a;:d v
3) LIIandIV 4) L IIandIV
= A
19. The principles of communication are
I The Communication process is Interactional

II. The Communication process is Reversible

III. The Communication process is Functional

IV. The Communication process can be transactional

Codes : -
(1) L IIandIII (2)
(3) L IIand IV 4)

20. In anegatively skewed distribution mean is :

L greater than median 1L

III. greater than mode Iv.

Codes :

(1) IandIV )

3) TIandIV @)
Paper-11 6
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16. TAN AT | UEHET (ScT) Tl B W B3 2
I Sl & G W . ST & gqfed F:X
. RS TN FH TEHA H V. 99det yeyfy & & o
&
(1) LI 3R (2) I, 1 3R IV
(3) LRIV (4) LII3RIV
17. 3y ufeiima & erfusri & fefefad & @ war wnfiet & 2
I FeHfd & g 3 . T
. THEE 9 g V. WIS
&
(1) L I3 2) LI3ATIV
(3) 1L II 3R IV (4) L3RIV
18. iRy fove ¥ vt & '
I TSI &t = . T o fafem s emwma
I Sien 9= 3t V. Siied SR g
T
(1) L, II3RIII 2) 11, 11T &% IV
(3) L3RIV 4) L3RIV
19, TE % fagi & ’
I SO0 S UishAT Sdisharces gl € |
[ GEIY0T i ishar fouar g € |
[l HOY Sl UiHAT HRTHS Bl & |
IV. SEIT0T i sk fafamde el € |
%
(1) L I3 () 1L I 3R IV
(3) L3RIV 4) LIATIV
20. Freeifian % & U THRIeH fw foeRor § wre &
I Wi § g . ThEs § Bl
. SgeT § agl IV. g 9 B
B!
1) 13RIV (2) 13RI
(3) I3RIV (4) I 3R
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21. Assertion (A) : Egg white forms a stiff foam as compared to whole egg.
Reason (R) : Lipoproteins in egg yolk hinder foam formation.
Codes :
(I) Both (A) and (R) are correct.
(2) Both (A) and (R) are incorrect.
(3) (A) is correct and (R) is incorrect.
(4) (A) is incorrect and (R) is correct.

22. Assertion (A) : Milk should be avoided in the diet of a child suffering from diarrhoea.
Reason (R) : Milk is a high fibre food.
Codes :
(1) Both (A) and (R) are correct.
(2) Both (A) and (R) are incorrect.
(3) (A) is correct and (R) is incorrect.
(4) (A) is incorrect and (R) is correct.

23. Assertion (A) : Standardized recipe is an important control tool in food production.

Reason (R) : Use of standardized recipes helps to ensure that preestablished standards for
quality are consistently achieved in food service operation.

Codes :
(I) Both (A) and (R) are correct. (2) Both (A) and (R) are incorrect.
(3) (A) is correct, but (R) is incorrect. (4) (A) is incorrect, but (R) is correct.

24. Assertion (A) : Shiny textures like satin make the person appear larger.
Reason (R) : Shiny textures absorb light.

Codes :
(1) (A) is correct, but (R) is incorrect. (2) (A) is incorrect, but (R) is correct.
(3) Both (A) and (R) are correct. (4) Both (A) and (R) are incorrect.

25. Assertion (A) : Glass transition temperature plays an important role in producing textured
yarns.
Reason (R) : The glass transition temperature is the point where crystalline regions of the
fibre develop flow or melt.

Codes :
(1) (A) is correct, but (R) is incorrect. (2) (A) is incorrect, but (R) is correct.
(3) Both (A) and (R) are correct. (4) Both (A) and (R) are incorrect.

26. Assertion (A) : The Greek method of space division is called ‘Golden Oblong’.
Reason (R) : It suggests 2:3 for solids and 5:7:11 for flat forms.
Codes :
(I) (A) is correct, but (R) is incorrect. (2) Both (A) and (R) are correct.
(3) (A) is incorrect, but (R) is correct. (4) Both (A) and (R) are incorrect.
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21, ATTEAT (A) : X 30 o 3TUET 37 B THRAT AT g B T € |
FHRUT(R)  : 30 Y ST&T § AT i SURATT B S H oh1ae STer ¢ |
C TN
(1) (A) 3R (R) ST W&l & | (2) (A) 3R (R) 31 T € |
(3) (A)WEE, A (R) T & | (4) (A) T E, 3R (R) W T |
22, AfEU (A) : ATER  difed U a=d & TR | g9 WAl Tel T aifey |
FROT(R) 39 H W 6 07 31 et § |
Eo
(1) (A) 3R (R) ST Tl & | (2) (A) 3R (R) 3 T € |
(3) (A)WEIE, A (R) T & | (4) (A)W%,W(R)H%ﬁf%li
23, ATUHYT (A) : TRI SR H HHbIHA T faf Ueh Hexaqul =07 Ay & |
FRUT(R)  : AR U (Al 1 SUaRT 78 GHAvad s | 755 Sl & 16 Torer & e
- W @l W URETe | g8l U ¥ § 9T {6 ST € |
C T
(1) (A) 3R (R) 3 = ¥ | ) (A) 3R (R) ST e &
(3) (A) T &, & (R) T € | (4)  (A) TToR &, eifep (R) W& |
24, FTTHEIA (A) : T F e 0T T6 FUL SRR T GO |
HROT(R)  : THHSR SHEE AT 1 GiEel & |
B )
(1) (A) T g, &AfehT (R) T € | (2) (A) 7o &, WifhT (R) Qe & |
(3) THI(A) A (R)TWEIT | (4) T (A) 3R (R) T € |
25, SAWHET (A) : T SR AT SRS ST % FEOT I T i v e § |
FHROT(R)  : TG Z(T9 a19 a8 fomg & ST a o fohaeetrs 9T fuserd € a1 e+ o € |
T
(1) (A) 2, aif (R) Toa ¥ | (2) (A) o §, Wl (R) Wl |
(3) ﬁﬁ(A)aﬁTl(R)Hﬁ%I (4) =M (A) 3R (R) T € |
26. ATWHUT (A) : ST I TSI e o (3ieh kish) i “Tiee el hed & |
HRUT(R)  :T€ 2:3 F UM 3 & [T qAT 5:7:11 H1 AT GHAGT 3P 6 [o1T Fohel
FATE |
Eo
(1) (A) e R (R) T ¢ | (2) (A) 3R (R) AT W& & |
(3) (A)TEAE, W (R) W& | (4)  (A) 3T (R) IHT Tora € |
J-12-16 9 Paper-I1

www.examrace.com



27.

Assertion (A) : The Child Labour (Prohibition and Regulation) Act was inadequate in
addressing the problem of child labour in India.

Reason (R) : The law makes a fallacious distinction between ‘hazardous’ and ‘non-
hazardous’ sectors thereby negating the importance of education for all children.

Codes :

(1) Both (A) and (R) are true. (2) Both (A) and (R) are false.
(3) (A) is true, but (R) is false. (4) (A) is false, but (R) is true.
28. Assertion (A) : Participatory learning has become the need of the hour because
knowledge is growing very fast and becoming redundant faster.
Reason (R) : Division of labour is a valuable innovative approach as an individual cannot
explore the many sources that contain knowledge all by himself/herself.
Codes :
(I)  (A) is correct, but (R) is incorrect. (2) (A) is incorrect, but (R) is correct.
(3) Both (A) and (R) are correct. (4) Both (A) and (R) are incorrect.
29. Assertion (A) : Lack of clarity, coherence and precision in a message can be taken care
of, if the receiver is literate.
Reason (R) : A literate receiver will understand the use of jargons in the message easily.
Codes :
(1) (A) is correct, but (R) is incorrect. (2) (A) is incorrect, but (R) is correct.
(3) Both (A) and (R) are correct. (4) Both (A) and (R) are incorrect.
30. Assertion (A) : The t-test on dependent samples can have greater power compared to t-
test on independent samples.
Reason (R) : In general, the higher the correlation induced by pairing, the stronger will be
the effect on power.
Codes :
(I) (A) is incorrect and (R) is correct. (2) (A) is correct and (R) is incorrect.
(3) Both(A) allld (R) are incorrect. (4) Both (A) and (R) are correct.
31. Arrange in correct sequence of the steps in processing of black tea :
L. Fermentation II.  Drying or firing
III. Rolling IV. Withering
V. Grading VI. Packing
Codes :
(h) LIV, ILIL V, VI 2) IV,ILLILV, VI
3) IV,LILIIL V, VI @ ILLIV,II VLV
Paper-I1 10 J-12-16
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27. AMMHAT (A) : TRA H 1T o9 I THET @ Hue & o0 a7 o (o ug fafeme) situtrag
SO AT |
FRUT(R) @ T HFF SITET 3R IR-SET ot €51 & i o 95 S0~ el € Sy et
el & feT 18T & Hewd Rl € |
E!\'Td':
(1) (A) R (R)IAT T | (2) (A) 3 (R) IHI TToTd € |
(3) (A) W&, AR (R) TId & | (4) (A) T &, AfBT (R) TE & |
28, ATHUA (A) : QeHIliTT IR THg Y SEwahal o4 A7 € il T Sgd oaoft & g @I &
AT AT ST @R |
FRUT(R)  : 99 fO0H T Tg0cd RISl SUMTH € i U Al [ % 3T At hl
3Tl SFENT el H HehaTl |
a;a:
(1) (AT THG(R) AT | (2) (A) 7o & foh] (R) W&T € |
(3) (A) 3 (R) ST Wl & | (4) (A) AT (R) ST € |
29, ﬁW(A):ﬁw@w%ﬁWﬁmﬁg@ﬁaﬁT@waﬁwwwww
HHaATE |
FROT(R)  : UF GER UR] Gag | YEsTel o TN 1 TLetdl § H |
ETE
(1) (A) T EHTR) TATE | (2) (A) Tord € fbeg (R) WET |
(3) (A) 3 (R) ST Wl & | (4) (A) T (R) S TATE |
30. TR (A) ; A SRR W ARG A3 T SR R A3 F G § e e
@
HROT(R)  : I, I o R SINHRT Ioaa? Tedey, T T s Te1g el |
C TN
(1) (A)TATE 3R (R) W& | (2) (A)TET A (R) T |
(3) (A) 3T (R) SFI TeAd & | (4) (A) 3T (R) ST EEl & |
31. el o o IR | 37 diel U i Fel HF H o7
. YA IL ST ar BERT
1. fer Iv. TR
v. 3ufen VI fem
kTN
(1) LIV,ILIIL V, VI () IV,1L1LIL V, VI
(3) IV,LILIIL V, VI (4) 1L LIV, I VL,V
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32. Arrange in correct sequence the steps in planning Nutrition Programmes in the

Community :

L Setting goals and objects II.  Selecting interventions

III. Community needs assessment IV. Problem identification

V. Programme Evaluation VI. Programme Implementation
Codes :

(1) IV,IL LI, VLV 2) ILIV,ILI VL,V

3) LILIV,I, VLV @ IV,LILIIL VL,V

33.  Arrange the steps of hiring staff in a food service establishment in the correct sequence :
I.  Advertising II.  Conducting interviews -
III.  Preparation of job requirements IV. Medical examination
V.  Screening applications

Codes :
(1) 1, V,ILIL IV (2) LIILV, IV, 11
(3) 1L V,LIV,1I 4) L1 V,IL IV

34. Give the correct sequence of draping skirt on the dress form :
L Pinning centre front and centre back on the dressform.
II.  Aligning the vertical grain and draping the side seam.
III.  Pinning the hipline.
IV. Blocking and marking of muslin.
V. Marking the waistline.
VI. Draping the front and back darts.

Codes :
(H IV,LILI, VL,V 2) IV,ILILI V, VI
3 ILLIOLIV,V,VI 4 UL IV, IV, VI

35.  Give the correct sequence of cotton spinning systems :

L. Carding II.  Opening, cleaning and blending
IlI. Drawing out IV. Spinning

V. Roving

Codes :

(1) IL LIV, IV 2) LILIOLIV,V

3) LIV, V,ILI @ IV, V,ILILI

36. Arrange the steps in decision making in proper sequence :
L Finding alternatives. II.  Accepting consequences.
III.  Thinking through alternatives. IV. Identifying the problem.
V. Selecting an alternative.

Codes :
() IV,LV, 1,1 2 IV,LILIILIV
3) IV, LIULV,1I @ IV,IILV, L1
Paper-11 12 J-12-16
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32. TR W OGO e HrshH i AT § 3T et TR T TEl ShH H o

L
IIL
V.
ESX
(1)
(3)

e 3 TYF iR HT

TR T STATARHATS T SHTHAT

FHTAHH T G AT

IV,IIL L II, VI, V
L UL IV, I VIV

IL.
IV.
VL

(2)
4

gqeauT fafeat o6 =3 e
AT &l T AT
HIASHH hl BT BT

IIL IV, IL I, VI, V
IV, L IL 111, VI, V

33. Ueh G 9o UiqeH H SHHHET i WA o 7] heAl ol Tel hH | oI

I
111
V.
Tk
(D
(3)

ICRICEECH
S STAIHATAT Sl TN

ST B S

LV, I 11, IV
IIL V, L1V, 11

II.
IV.

2
4

34. U B O THE Sl olEh T Tal A ST ;

TTETTh Rl T el

Fafercgeia s

LI, V, IV, II
IIL 1, V, 11, IV

I, AT ST 3R Tt s
EAGEGI

LIL IO IV, V
IV, V,IL, IIT, I

AT Sl UROT BT
HHET & G

IV, L 1L, 1I1, IV
IV, 1L V, I, 1T

[ 30 EH WU T 3T AT 9% & {0 e |

II. REHA IF Hl 3k e AT 3T WIEE Hiom i AHAT |

I FHoe H @R o FE |

IV. T\ ol sodieh AT F MR AT |

V. S @ W AR o

VI A 3R O &l SIH I AHMAT |

o

(1) IV,LILIL VIV )

(3) ILLILIV,V, VI 4)
35. A A I TSI 1 HEl A ST

[ SRET II.

M. e V.

V. fem

ETE

(1) ILLILV, IV )

(3) LIV, V,IIL I (4)
36. UG OF I UishAT % =0T T HEl SHH T ST

[ Torehedl & @IST T II.

III. Toehed &% aR | Hig-foar ST IV.

V. [o%ed & 99

o

(1) IV,L V,IIL II )

(3) IV,LILV,II 4)
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37. Arrange in order of sequence of language development in infancy :
L Cooing
II.  Telegraphic speech
III. Holophrastic speech
IV. Babbling

Codes :
(H IV, LI 10 2 LIV, 1L
3 LIV, IIIII @ IV, LI, 11

38. Arrange the following ‘Canons’ of public speaking as given by Aristotle in the sequential

order of preparation to delivery :
I

L. Arrangement II.  Delivery

III.  Style IV. Memory

V. Invention

Codes :

(1) V,LUOLIV,II 2 IV,ILLILV

3) NILIV,V,LII 4) ILILIV, V,I
n F

39. Arrange the following stages of the process of adopting a new idea or technology as
proposed by Evrett Rogers.

L Knowledge "~ I Decision
III.  Confirmation IV. Implementation

V. Persuasion

Codes :
(Hh LILOLIV,V 2 LIOLILIV,V
3) LIV, V,I,II @ LV, IL,IV,III

40. Arrange in correct sequence the steps for the construction of frequency polygon :
L. Decide on a suitable scale for the horizontal and vertical axis.
II.  Construct a frequency distribution in table form.

III. Place a dot above the midpoint of each class interval at a height equal to the
frequency of the scores in that interval.

IV. Label the class interval midpoints along the horizontal axis.

V.  Connect the dots with straight lines.

Codes :
() ILLILIV,V (2) LILIV,ILV
(3) LIV,ILILV 4) I,LIV, IV
Paper-11 14 J-12-16
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37.

38.

39.

40.

FreITEEAT § 9T fohT o S oh Fearerd &Y

I.  FfE

II. femniees oiie

. Eleithates e

IvV. dafer

Eo

(1) IV, L1111 (2) LIV, I 10
(3) LIV, IL I 4) IV,L 111

3RE] & R AT T S-S o eAfAiad T s 107 o SRl & T & SN Fared
FHIT

I vEy Il ST9oT 3T
I ¥l Iv. gfa

V. @

Eo

(1) V,LILIV, 1 (2) IV,ILLIIL V
(3) MLIV,V,L1I 4) ILILIV,V,1

e I ET T T I AT A B ST # o % =it 5w e A e

¥

L 3= I o= &
. gt T Iv. FomEa

V. ORa &

Eo

(1) LILILIV,V () LILILIV,V
3 LIv,viuLam 4 LV, LIV,

IREIRAT TGS % AT & FeIT SHaHT i el 567 H IS -

L ﬁ%ﬁaﬁfsﬁﬁmﬁmwmmwﬁﬁam |

[ T RUT S H T SR &aer S 8o S |

[l TH FaE W R § TR D! TREIRAT % FHA Fedh ST el % 7 95 & 3R 0

o5 T |
IV. &St 37T o 1 90T 3ieRTer Het forgatt il qoH e |
V. foge @ e Y 9 S |

(Hh) ILLILIV,V (2 LILIV, 1LV
3) LIV, ILILV @ ILLIV, 1LV
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41. Match the nutrients in List — I with their functions in List — II.

List -1 List — I1
L Thiamine A. Decarboxylation of amino acids
II.  Riboflavin B.  Precursor of tryptophan
III. Niacin C. DNA synthesis
IV. Pyridoxine D. Collagen formation
V. Cynocobalamin E.  Carbohydrate metabolism
F.  Oxidation-Reduction reactions

Codes :

I I 1 Iv v
() E F B A C
2 E D A F C
3 F C E A D
4 E B F D C

42. Match the natural toxins given in List — I with the foods they are present in given in List — II.
List - I List — IT — 4
I Avidin A.  Cotton seed 4 { :
II.  Aflatoxin B. Soyabean li
III.  Erucic Acid C. Raw egg white /‘( .
IV. Gossypol D. Mustard oil ,-"f J
V. Hemagglutinins E. Peanuts [ ' J
VI.  Oxalic acid F.  Mushrooms | ‘
G. Spinach ﬁj

Codes :

I I 1 I1v Vv VI
(1) ¢ B D A E F
2 C€C E D A B G
3 F A E B D G
4 C€ B E F A G

43. Match the pricing methods in List — I with their explanation in List —II :
List - I List - IT

I Imitativelpricing A. Based on relationship of net profit to capital

II. Discoﬁné'pricing
Ay
III. Cost plus qg'ici'r'ig

IV. " Rate of return pricing D.

Codes :

I 1o ur Iv

() B D A C

2 A D C B

3 B C D A

4 A C D B
Paper-11

investment.
B.  Prices are set by following those of most successful
establishment in same class of food services.
C. Practice of charging the customer less than the
declared rates on product menus.
Food cost per unit of sales is calculated and a given
percentage is added to food cost.
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M. T 1 T e et g — 11 R T S e A g S

el -1 Hh - 11
i A, I TRIEE A SRR
II. EeAte B.  ZUethT 1 WHTET
. Sre C. TITAT & Ieuur
V. feeds D.  ioisH ST
V. UEAREes™E B, SERESS S 9auhd

F.  ofodey dewm Uik
ESX
I I 1 IV V
1) E F B A C
2 E D A F C
3) F C E A D
4 E B F D C

42, G - 13 Fow T T et TR g - 11 3 R T e & et f A o S

et - 1 Tl - 11 g
I ufafes A FeAde V| »
I SRR B. e y ,'
1. IR uias C. TFTHISHER | |
V. Tt D. wwE H A | ‘ -
V. feAreRitE E. e ‘/
VL. aRifeUfgs B W
G. Tty | '
Eo
I I I IV V VI
() ¢ B D A E F
2 C E D A B G
3 F A E B D G
4 C B E F A G
43. gt — 19 S T Hod Uil (ISR He7e) S g — 1 § 3! A % i Gaferd i
=t - =t - 11

I sefes i A, e M ST AR o geg W S |

0 Tewpse e B. W TaTsT & WHE A0 H Faltesh Hhet HieH &

’ qf'{ﬁuﬂ AR g 7 T o1t & |
I HRE T ARR C. TS ¥ I W Hd Jodl ¥ FHH Jod o i FawT |
IV. T 36 R usim D, ool &l Ui 313 T1e @1 &1 T0MT i STl & 3R 50

. T SidqeTd ol W ANd | Sig GO STan e |

ESX

1 11 I 1I1v
(D) B D A C
2) A D C B
3) B C D A
4 A C D B
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44. Match the items given in List — I with the items given in List — II.
List - I List - IT

. Salt A.  Wetting agent
II.  Sodium Carbonate =~ B.  Stiffening agent
III. Borax C. Exhausting agent
IV. Lissapol D. Levelling agent
E.  Shine
Codes :
I IO 1 Iv
() C€C D B A
2 A E C D
3 D C E A
4 B A D C
45. Match the fabrics given in List — I with their weaves given in List — 1.
List -1 List - II . f
I.  Dotted swiss A. Plain weave 4 s (
II.  Gauze B.  Surface figure /‘,( P
III. Hopsacking C. Dobby 4 |'
IV. Hucka back D. Leno f . |
E.  Basket f ‘ J
/
Codes : i
I I 1 Iv
(1) B A E C
2 A C B E
3 € B D A
4 D E A C
46. Match the items given in List — I with the Items given in List — II :
List-1 | List - II
I.  Laurie Baker A.  Pencils
IL. Gulbrethﬁ B. Household equipment
II. D.W. Ross C.  Therbligs
/ IV. Parker “{ \ D. Housing
V. Kotler f ' E.  Human values
VI. . Peet and T'hye F.  Values in colours
. ' G. Marketing
Codes :
I oI 1 I1v Vv VI
(1) B C€C F E G D
2 D C F A G E
3 D C F E G B
4 D G F A E B
Paper-II 18 J-12-16
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44. T -1 ¥ KU 0 5% A1 et ge - 11 8 5w T g 9

i | =t - 11
. 9% A. TR FF (A1) A
II. wifeaq HEHe B. HE® ® I ATHE
I SR C. TI&M H qH
Iv. foame D. QHAERE! dEH
E. THh
ETE
I O W IV
() C D B A
2 A E C D
3 D C E A
49 B A D C
45. g — 1 ° 5T gt o e g — Hﬁﬁﬂ‘s‘waﬁaqé@?ﬁﬁﬁ
et -1 e - 10 > i
L et A W .4 A B
I B. W%H R /,.« 2
I euaf=T C. =&t 4 I
IV. Ehe® D. o / i\ ]
ETE
I O W IV :
() B A E C
2 A C B E
3 C B D A
4 D E A C
46. gt — 1 ¥ T T¢ A 1 oo gt — 11 5 U e Ag § o6
et -1 (-1
I R | A, e
I fretser, B. =R SUSRUT
I e, C g
IV. o “} \D. o™
V. @R f 'E.  AFEE 9o
VI fewead  F @ degw
: ' G. foshi-wem
Eo
I I m IV V VI
() B C F E G D
2 D C F A G E
3 D C F E G B
4 D G F A E B
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47. Match List — I with List — II.

List - 1 List - II
L CARA A.  Minorities
II. RCI B. International
Agency
III. NCPCR C. Human Rights
IV. NHRC D. Child Rights ]
V. UNICEF E.  Disability ¢ :
F.  Adoption J | '

Codes : :

I m ma v v
() E F D C B
2 F E D C B
3 F C D E B
4 F E D C A

48. Match the barriers in communication given under List — I with the appropriate causal

activity given under List — II.

List — I J List — IT

L Physical A. Biases and Prejudices

II. ~ Physiological § Feedback

IV. Semantig,

B~
{
III.  Psychological C. ' Screeching of cars
D. Dilectical differences in meaning
E.

i

Codes :
I o m 1Iv

Hearing impairment

1H$ A C B D
2 B D A C
3 C E A D
4 D A B C
Paper-I1 20 J-12-16
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i |
WTART
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IV.
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3)
“4)
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ST
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(1
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3)
4
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49. Match the name of the persons given under List — I with the idea contributed by them

given under List — IL

List -1

m o N w»>

: ﬂQ: Difference in location between 2

WO Q= <

D.

List — IT
Diffussion of Innovation
Milk Revolution
Media as magic multiplier
Micro Credit
Wood’s triangle

r

(|
f }ist’- II
A. Post Hoc tes ,gf

B.

“independent glﬁ)ups.

dependent groups.

E. Narrower peak

concentration in tails.

two tailed test.

G. one tailed test.

Q m aa

22

I.  Varghese Kurein
II. Mohammad Yunus
III. Evrett Rogers
IV. Wilbur Shramm
Codes :

I I 1o Iv
(1) B D A C
2 B D E A
3 E C B A
4 E D C B

50. Match the items in List-I with List-I1I.
List - I
. Leptokurtic distribution
IL H,:p #85
III. Tukey’s HSD test
IV. Mann-Whitney test
V. Sign test -
VL. H,:u, .>-7O
"o

Codes :

I I 1 Iv
(1) D F A C
2 E F A B
3 E G A D
49 E D F A

Paper-11
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Difference between more than 2 means.
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Q
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&

50. Tt — 1 H &) TE HaT W gl — [1 % we gaferd i ;

-
A TR UEsE T " .
B. < A TRl o S ST § ST

\ <
1L Tl T T < wderon _C_.h | 2 oTifsra el & ot e § Siaw

aet -1
. R faaior
1. Ty W # 85
IV. #F-feoer adeqor
V. HET e ‘i-
VL Tl My > 70

‘4
C I

(=N

(1
(2)
3)
“4)

J-12-16

oo m O —
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D. 2 HreFHl 9 ek o di" 3T
B, T Y G 3T SRl aRiuE 97 e
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